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Max Z =C’x Min W =b’y
s/c| Ax <b = sk]Ay>C
x>0 y=0
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Max Z = 100 x;+200 X, +300 X3

[ 2%+, +4%3 < 1000
5X1+5X,+7X3 < 1500

< 8X1+9X, +4x3 <2000
5X1+2X,+X3 < 2500

L X1, X2, X3= 0
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Min W = 1000y;+1500 y, +2000 ys +2500 Y,
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2y1+5y, +8ys+3y, > 100
y1+3y2 +9ys+2y, > 200
4y, +7y, +4y3 +4y, = 300
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Min W = 1000y1+1500 Yo +2000 Y3 +2500 Ya
2y1+5y, +8y3+9y, > 100
y1+5Yy2 +9y3+2y, = 200
4y +7y, +4y; +4y, > 300

Y1, Y2, Y3, ¥a= 0
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Max Z = 5X+6 X Min W = 100 y;+150 y, +220 y;
7X1+6X, < 100 Ty, +2y, +3y; >5
X+ PG 150 By1+4y,+9y;=> 6
HK+9%, <220 Y1 Y2 Y3= 0
Xy, Xo> 0
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Max Z = 5X;+4 X, +9X%3
2X1+3X, +8%X3 < 100
TX1+4X, +3%X3 <200
X1, X2 X3=> 0
HEY L;?LJ\ CSJM.J\
Min W = 100 y;+200 y,
2y1+ 7y, =5
3y1+ 4y, >4
8y;+ 3y, >9
y1>0, y>>0 y3>0
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